INETEHBF 50m FEQCHEEZALL—X)

(148]
1[ 8]
2[ 5]
3[ 2]
41 1]
5[ 4]
6 3]
7[ 6]
8[ 7]

[348]
1 2]
2[ 3]
3[ 5]
4[ 4]
5[ 7]
6[ 6]
70 8]

iR

( +1.3 m)
o1 1 A1 CE 4 /V)9.60 g
DI W1 @RJIP JT)9.78 q
15848 111 i K1 (= & A C)10.28
226/ B a1 (= #1 /1N)10.34
60f& 1L R{H1 (T F & #)10.51
89FE A AL 1 (Ek-FRC)10.52
146v—x Wit 1 (K'Y & H)10.99
14 B &1 (KRCY=2=7)12.91

( -0.3 m)

204%5 ] KA1 (HER-1RC)9.59 ¢
85 AR LE&S1 (R T F)I.69 g
1454k  FH F1 (K Y & H)9.88 ¢
6710 F OF1 (FAY=F%1)9.93
160EA)I1 #E5#E 1 (= 8 A C)10.09
203fs F M1 (K 1 BE £)10.55
87RT H & =1 (HEk-TFRC)11.18

( 0.7 m)

1[ 5]
2[ 6]
3[ 3]
41 4]
5[ 8]
6[ 7]
70 1]
8[ 2]

881 i1 (HEE-FRC)I. 44
15 A 2421 (KRCV=2=7)9.69
orrR i A1 CGE 4 /1M)9.90
20442 i) KA1 (HEE->FRC)9. 92

DI e 1 @R)JIP J T)9.95
85 AR LXS1 EHT F)I. 98
20278 % L1 Kb B2 k)10, 21
1455 1 FE1 (K Y & B10.25

(248]
10 5]
2[ 6]
3[ 8]
4 3]
5[ 4]
60 1]
70 2]
8[ 7]

( 00
8811
15110 A&

20218 %
16 fif] W5
61 (L1 %

229 ek B
159/~ fit
8611 JT

m)

i1 (HEE>+RC)9.22 g
#4121 (KRCV=227)9.39 q
HET O £)9.93 g
f# A1 (KRCY=2=7)10.03
WK1 (T F A& &)10.15

1 (= ® /10.29
A1 (= 5 A C)10.46
ME1EEH T F)10.91



INE2FEHFF 50m FTEUBMEIALL—X)

(148]
10 7]
2[ 2]
3[ 6]
4[ 5]
5[ 4]
60 1]
70 8]
[ 3]
[3+8]
1[ 8]
2[ 5]
3[ 6]
4[ 2]
5[ 4]
6[ 7]
[ 3]

iR

( -0.3 m)
156 /i A

58[% F KEF2 (T F & #)9.35

9y T BE2 (@ dL S S)9.37
MWIEH KFE2 (K Y 5974
223%F 5L W52 (U BB /1N9.94
14275 M W2 (K Y & E10.19
200/ &% M- Fn2 Ok ke b)) XRiG

( -1.5 m)

2017k H % 5 2 Ok 1 B2 1)9.04 g
KE2 (=& A C)9.09 g
TR EAN2 TAI=1%7)9.32 g

154111 A

9237 KRR 2 GR 48 /1V)9.33
MIAA FHIE 2 (SMTC Jr.)10.46
14370 7 E2 (K Y 5 H010.53
2199 H A — 2 (ITHbRAAC)RIF

( -1.9 m)

1[ 5]
2[ 6]
3[ 8]
47 3]
5[ 4]
6 1]
70 7]
8[ 2]

e 22 2 (K'Y B H8. 93
A2 (=8 A C)9.01
feE 2 (=5 A C)9.06
T10B: & ik 2 TA)—FX1)9. 06
201k B2 Ok b ke F)9.08
THHTFER EAN2 (TA)=1KF)9. 42
22438 H w2 U WS /N9.47
157142 K BE 2 (= 5 A C)9.54

140 5 45
156 i A
154111 AR

E A2 (=8 A C)8.94 g
T0E: & KIkK2 TAU-1%7)9.03 ¢

(248]
1[0 3]
2[ 6]
3[ 2]
40 7]
5[ 1]
6 8]
A
8[ 5]

(448]
1[ 5]
2[ 8]
3[ 3]
40 7]
5[ 4]
[ 2]
[ 6]

(

0.0 m)

157~ K BE2 (Z 5 A C)9.33 g

144155 H

2307 A
2207 /5

178 K &

(

140 5 %
22451 H
156570] Jif
1894~ A

Y H2 (K Y & H9. 34
B A& 2 (SMTC Jr.)9.38
&1~ 2 (KRCv=2=7)9.39
B2 (= 81 /]N)9.42
F#H2 (IthbAAC)9. 51
K2 (T F & i)10.12
BE3}b2 (A 2+ T C)10.18
-1.0 m)

mez22 (K'Y & Hu08.79 g
w2 U B /N9.15 g
BH—2 (= A C)9.50
B K2 (k%7 77)10.19
B4fE k R E2 G T F)10.52

432¢ H
1355 &

59 & JI|

MMER /2 (K'Y & BRI

4275 M k2 (SMTC Jr.)RiB



INEBEBF 100m FEGH2ALL—X)

(148]
1[ 3]
2[ 5]
3[ 2]
4[ 8]
5[ 7]
6 6]
70 4]
8[ 1]

[348]
1 2]
2[ 6]
3[ 3]
4[ 4]
5[ 7]
6[ 5]
70 8]

(54H)
10 4]
2[ 3]
3[ 8]
41 2]
5[0 7]
6[ 6]
[ 5]

iR B

( -0.2 m)

321 d7 KF13 (SMTC Jr.)16.
2123 W B K3 (T F %k ¥)16.
1383 & hiE3 (K Y & Fl16.

33 ¢
51 ¢
17 q

3BE Ak FE K3 (SMTC Jr.)17.12
65/ g K #L3 (TAY—1%1)17.30
1867 &  H13 (ks 71711
13548 M M3 (K'Y & B)l7.81
225°F- H mi A3 (= i /v 18.63

( -0.9 m)

361 s PR3 (SMTC Jr.)16.67
19726 H B2 A3 OK 1 pE 1)16.78
56 (L I f&HE3 (T F & #)17.94
1370 ¥ Kt 23 (K Y & B18.77
1874F Il 53 (K%Z 77)19.01
397 =2 5 3 (SMTC Jr.)20.47
218 = & & 33 (ItbRAAC)22.56
( -0.6 m)

358 O B&3 (SMTC Jr.)16.82
148 H U3 ULV R /)V)16.89
17TTAR T B3 (i 8 T C)17.33
83 P BEE 3 M T F)18.26
1387 B K3 (K Y 5 H018.35
1854 1 BE K3 (K7 77)20.68
934k o B3 G O RIG

( -1.2 m)

10 3]
2[ 5]
3[ 4]
4[ 6]
5[ 8]
6[ 1]
1 7]
8[ 2]

13446 H A K3 (KY 5 H)15.80
55)I1db & A3 (T F & #)16.40
320 # K F13 (SMTC Jr.)16.74
2123 H H K3 (T F %k 1)16.84
18& 1A FERRR 3 CkThELs77)16.98
275 K B3 (WbRhAAC)TT. 15
361 s R3S (SMTC Jr.)17.19
138 5 HE3 (K'Y & B)17.44

(248]
11 4]
2[ 5]
3[ 2]
40 7]
5[ 6]
[ 3]
[ 8]

(448]
1[ 5]
2[ 2]
3[ 4]
41 6]
5[ 8]
6[ 7]
70 3]

[648]
1[0 7]
2[ 8]
3[ 2]
4 6]
5[0 5]
6 4]
70 3]

( -1.5 m)

AR JE B FI3 (SMTC Jr.)17.49
17450 A& F#E3 (2 T C)17.70
19878 22 ¥ A3 (K 1 k& [)18.13
A LLEA3 (B T F)19.93
57f 11 B3 (T F A #)20.63
1367 M & E3 (K Y B BXRS
408 A — E 3 (SMTC Jr.)Ri5

( +0. 1 m)

5511t & A3 (T F & #)16.25
185 A #EKER 3 kL7 77)16. T
17678 #F 33 (/F 2% T C)17.53
37K Fn g 3 (SMTC Jr.)18.02
1887 R M E 3 (k%7 77)18. 11
139 1R JeBEBl 3 (K Y & H)18.76
38 H EHES (SMTC Jr.)19.73

( +0.5 m)

13447 W A K3 (K Y & F)15. 41
27 K A3 UthRAAC)16.77
1753  F 13 (i 8 T C)16.92
66 | il K3 (TAU-1kF)17.18
19942 F  HE3 (K B £)17.30
213t/ - A3 (T F Kk +)17.34
Mk s=iH3 @de S S)18.59



INFAFEBF 100m FEGHZ2ALL—X)

(148]
10 7]
2[ 3]
3[ 8]
4[ 6]
5[ 5]
6 2]
[ 4]

[3#8]
1[ 3]
20 7]
3[ 2]
4[ 5]
50 6]
6 4]
70 8]

(5#H]
10 4]
2[ 6]
3[ 8]
4[ 3]
5[ 2]
6[ 7]
7[ 5]

iR B
(

-0. 1

1[ 5]
2[ 4]
3[ 3]
41 6]
5[ 8]
6[ 7]
70 1]
8[ 2]

( -1.9
10 &%

m)
w4 T S S)16.85
53w K4 (T F & #)17.61
4T H EH4CE 4 )17.76
168N M IER 4 (i 2% T C)18.06
200N K B B4 (T F Kk 1)18.08
12987 H #E B4 (K'Y & F18.27
30FH M K4 (SMTC Jr.)RiE
( -1.6 m)

68 FIKEA 4 (TAU—1%7)15.48
734 [ K B4 Glva(taEt77)16. 09
19508 W & =F 4 K 1 f2 1) 16. 47
1210H SN 4 (KRCV2=7)17.20
1827t 0 #Hr K4 (K&¥x2777)17.30
127488 H 7= K4 (K'Y & B)17.49
96 H WA SRR 4 GR 4% /M) 17.60

( -2.4 m)

124fF £ BEZ4 (K Y B E)14.60
17248 1 54 (i 2 T C)16.30
18411 MR Fn g 4 (k%7 Z7)16.49
21675 #F £ 4 (THbRAAC)TT. 23
10K JII 4 (KY & HB)17.24
98z A —EH 4G 4 /N)17.82
81t wEwWR4 B T F)18.24

m)

12415 & AEZ4(KY 5 H)I4.74
68 s FHREA 4 (T AY—1h4%+1)15.09
17000 & #r4 (e 2 T C)15.19
69 AN BEEIE4 (TAY—14%T1)15.26
SIAFE —#4 (SMTC Jr.)15.63
19485 (I b 98 4 Ok 1 f2 1)16.00
734 [ K B4 (Blva(tiE)77)16. 08
8tm A B4 (@7 S S)16.37

(248]
10 5]
2[ 2]
3[ 3]
40 7]
5[ 8]
6 4]
70 6]

(48]
1[ 4]
2[ 6]
3[ 8]
AL 7]
5[ 5]
6 2]
70 3]

[648]
1[ 4]
2[ 2]
3[ 5]
41 7]
5[ 6]
6 3]
[ 8]

( -0.8 m)

695 A BEIE 4 (TAU-FXT)15.
19465 (L wr 3 4 Ok 10 B B)15.
8t A  BE4 (T dL S S)16.
1325 W K4 (K'Y & H)16.
b4 1 4 (T F A #H)17.
1691 A LA 4 (i 22 T C)H1T.
1BIME FE4(KY B HBIT.
( -1.0
SIARE — #4 (SMTC Jr.)15.
1210 M Z2 4 (Bva{1rEL)77)16.
80 ffFst4 (ZE T F)I6.
12600 B KH4 (K Y B BT
64%k H Fndk4 CR1HE R C)17.
978 K &4 GR 48 /917
1RSI s 4 i 8 T C)18.
( -1.9 m)

17000 & ¥4 (FF 2 T C)15.
173 K/ Ui =4 (7 28 T C)16.
5L 4R Fn4 GR 48 /1M)16.
196 F 1 & 44 Ok b i E)16.
12510 F E 4 (K Y B B)I16.
18348 St W E 4 (KR%2 7 )11,
12822 H

m)

21
90
10
11
30
53
62

57
34
99
17
2]
33
20

45
10
64
65
12
40

e A4 (K Y B B xRS

o



INFESERF 100m FTEGHAALL—X)

[1#8] (  +0.3 m) [248) ( +0.5 m)

10 7] 750N #r K5 CkFEEZF7)14.31 g 104] 51y B L5 (T F A £)13.96 g
2[ 4] 164K F # /b5 (i 8 T C)14.66 ¢ 2[ 5] 63[ A H5CGME R C)15.15q

3[ 8] 120+ 4 — 5 (K Y & H015.93 3[ 6] 284 M FA5 (SMTC Jr.)16.23
40 5] 12158 & A5 (K'Y B H)16.26 40 2] 104%k 1 #Z4E5 CGE 48 /01714
5[ 2] 103/  #1 5 CGE 48 /M)17.15 5[ 8] 1220 & £5 (K Y 5 Hu17.58
6[ 6] 3K K&ES5GTI S S)17.47 60 3] 1794 11 3 F5 (K¥r 77)18.07
70 3] 26/ 72  H 5 (SMTC Jr.)17.61 [ 7] 1661 &K JEIK5 (fi 28 T C)RIG
(3%8] (  +0.8 m) [4%8] ¢ -1.0 m)
10 4] 76mm FKERS5 kL 77)14.88 ¢ 108] 5EH vt K5@TId S S)14.83 ¢
2[ 7] 221/ kB35 (= ] /)15.30 2[ 2] M8 M &KE5 (K Y & H)15.31
3[ 2] 29/ Ak JE th 5 (SMTC Jr.)15.58 3[ 3] 128i= H A5 (K Y & H)16.16
41 6] 167 LR 7 K5 (i 2 T C)16.11 40 7] 19388 F k5 Ok (b & 1)16.79
5[ 8] b2#p % & HI5 (T F & #)17.54 50 5] 1001 ¥R S GE 48 /N17.73
60 3] M9 ME{-5 (K Y & Hu18.17 6[ 4] 214= % & @5 (CHRAAC)18. 11
[ 5] 1014k & HES5 CGE 45 /RIS 70 6] 181fr A HFE 5 (K2 77)20.07

[(5#8] ( 0.0 m)

106] 15 W #HE5(KY & HE)14.52 g
2[ 2] 11645 H éfius(KY,%H&)M.mq
3[ 3] 99K M 65 R 4% /v)15.93
A0 5] 21588 & T %5 (1THhAAC)16.76
5[ 7] 10202 5% A5 G 45 /M)17.14
6[ 4] 2224t/ ZFHi5 U WG /N17.25

FI-

R
( -0.9 m)

104] 51 B +5(T F A& #)14.25
20 3] T51uN #H KR5S CkriELY77)14.62
3[ 6] 115 #HE5(KY B H14.83
A[ 5] 164K~ -5 (i 2 T C)14.99
507] 1165 M & K5 (K Y & H)15.02
6[ 8] 5EH Pt AK5ETId S S)15.47
70 11 T76@Em FKER5 Ckfhls77)15.73
8[ 2] 63 A H5CKME R C)15.80



INFRBERF 100m FTEUMHAALL—R)

(148]
1[ 2]
2[ 8]
3[ 6]
4[ 5]
5[ 4]
6[ 7]
70 1]
8[ 3]

[348]
10 7]
2[ 5]
3[ 3]
4[ 4]
5[ 6]
6[ 8]
[ 2]

iR

( -0.1 m)

149 H B 46 (=# A C)13.98 q
1070 7 6 (K'Y & H)14.24 ¢
1988750 #LEL 6 (SMTC Jr.)14.31 g
1064 M HH6 (K Y & H)14.89
147 ¥ ne CkPlELRs77)14.97
1897k FEIKER 6 (SMTC Jr.)15.03
215 7 &£ =F6 (0 B /)15.15
MuEr o e (T F A #)15.27

( -1.3 m)

2AH0A BERER 6 (SMTC Jr.)13.96 g
162/NEH fF6 6 (fi 2 T C)14.01 g
23FE H OB 6 (SMTC Jr.)14.48 g
1102 2 B K6 (K'Y & Hl4.84
465 mH K6 (T F & %)15.54
MIKRK JEWR6 (K'Y & BO17.16
190/ K Il 9 6 CK 1L B ) RiG

( -1.6 m)

1[ 5]
2[ 6]
3[ 4]
47 3]
5[ 8]
6[ 7]
70 2]
8[ 1]

10878 2 Ee (KY & H13.16
24KAA BERHEE 6 (SMTC Jr.)14.13
162N W fF6 6 (fi 22 T C)14.17
149k H HE A6 (=8 A C)14.22
1071 F %6 (K'Y & H14.54
19/ 8875 4L 6 (SMTC Jr.)14.63
2 H L B56 (SMTC Jr.)14.65
21/ 1 Fn 6 (SMTC Jr.)14.91

(248]
10 6]
2[ 8]
3[ 3]
4 5]
5[ 1]
6 4]
70 7]
8[ 2]

(448]
1[0 4]
2[ 2]
3[ 6]
40 7]
5[ 3]
6[ 8]
[ 5]

( +0. 1 m)

10875 &2 6 (K'Y & H)13.
21/ Fn 6 (SMTC Jr.)14.
2002 . WE6 (SMTC Jr.)14.
45H F 6 (T F A& )15,
200 WM  BE6 (T F >k ¥)15.
15068 R, & 726 (= &1 A C)15.
1094 & 16 (K'Y B HE)15.
1923 k2 #6 Ok 1k k)16.
( -0.4 m)

485 KF6 (T F A& )14
M2e—xv %#HA6 (K'Y & BO15.
1914k /L &5 e Ok b k2 k)15,
M3z BE H6 (K Y & H)1b.
AIE R M —6 (T F A& #)16.
1ark % A6 (K Y & H)16.

23 g
49 ¢
15
19
39
47
79
60

97
35
39
83
47
63

2502 7 i K6 (SMTC Jr.)Ri5



INFEF 1000m B4 LL—XRHEEQH)

(148]
1[ 5]
2[11]
3[ 4]
4[ 7]
5[ 2]
6 8]
7[ 6]
8[ 3]
9[10]
10[ 1]

[ 9]

16mm FKER 5 CkTHELEs77)3:

&6 Ok 1 ke F)3:
& N6 (T F Kk )3
& 3} 5 (fEk-TRC)3:
AR5 (T F ok +)3:
/N4
B &5 G T F)a:
5 (T F A #)4:
B &5 (K Y & B04:
/N5

19234 &
2087 M
907
21052 fir]
105)1] A&
7978 K
52 %F [
1173 34
2224k #+
166111 A

zZ2 e G 4%

g A5 N 15

32.
34.
35.
41.
42.
13.
16.
21.
40.
05.

JEIK5 (A 24 T C)RIH

38
93
93
65
01
24
56
01
35
97

4> O
e A

1

O ~d O Ol bW

50 M 26(T F A #)3

110 /2 37

163 7
19273 #2

120 + 4%

:05.27
BEK6 (K Y B HS3:
19147 F e Ok 1L ke 1)3:
76 =M KRR 5 CkflE ks 77)3:
BZ226 (F 2 T C)3:

6 Ok 1l fE B)3:
2084 H f#E A6 (T F 3k 7)3:
— 5 (K Y B 3:

21.52
23.81
32.38
34. 54
34.93
35.93
36. 02

[248]
1[11]
20 7]
3[ 2]
4[ 8]
5[ 5]
6[ 3]
70 4]
8[ 6]
9[ 9]
10[10]

[ 1]

50& M
110 & 37
191K Ji7
163 7
120 +- ##&
1231 H
121 5 I
21585 |5
281 H
17

190 /)~ Hg )11

26 (T F & H3:
BE K6 (KY B BS:
FE6 Ok kg F)3:
B 226 (fi 2 T C)3:
— 5 (K'Y B H3:
B A5 (K'Y B B3:
HAES(KY B B3
T %5 (I2hb7RAAC)3:

15 (SMTC Jr.)3:
= E 6 (SMTC Jr.)3:
gl 6 K Il g b)) Rig

05.
21,
23.
34.
36.
36.
37.
39.
47.
49.

21
52
817
54
02
15
44
59
38
26



INEEBF 8 OmHI[0. 700m/7. 00m] R R

( -1.3 m)

106] 164K F %5 (7 24 T C)14.96
2[ 5] 22F # 6 (SMTC Jr.)14.99
3[ 7] A1%EEHE W 6 (T F & £)20.42



INEBEF 4x100mR RE

1[3]SMTC Jr. A
2[8]KY BHt—A
3[7TIKY &Hi—B
42147 B T C
5[6]SMTC Jr.B
6[4]T F A &
[1]KY BH—C
(5K W fe E

A~~~ o~ o~~~ —~

21/ Fnfg6:
10645 1 CH:H 6
13y FEH6
167 LR RE K5
2002 T VE6:
45 - 6
1230 1 fF45

QU8R BEKER 6
11648 M & K5
1120—x ZHA6-

164K T #E I

1897k JEIKAR6:
480 H K Fne-
M8k M f&KIE5

1988 4LREL6-
N5A H %S5
1144k & A6
5- 16514 Wl KI5
2200 5 -6
ATtE e M 6
12158 % & 45

23L& H
110/2 3z
1095 4
163 I
1730, 3
46 .
1201 4

Ly 6)54. 67

Bt X 6)56.30

f11=6)59. 46

= 226)59. 90

{:%6)59 91

P2 K 6)1:00.00

—85) A7 Lo
) Ri5%



INERF ESEk R

10 3] 1517 vivh 5k 6 (= 51 A C) 1m30
2[ 2] 149k H B A6 (=% A C) 1m25
3[ 1] 16t A & K5 (K Y & H) 1m20
40 4] 228 8 K HEe (= #i /) 1mlb

10



INFEBF ENREE RA

1[10]
2[ 6]
3[ 2]
4116]
5[ 3]
6[ 4]
70 1]
8[11]
9[17]
10[ 9]
11[14]
12[ 8]
13[12]
14[ 5]
15[ 7]
16 [13]
17115]

5150 B +5(T F A &)
9% H HiE6 (T F & i)
5E Y A5 GTdL S S)
162/NE M f#¥6 6 (fi 22 T C)
202 6 (SMTC Jr.)
2448 FERAE 6 (SMTC Jr.)
688 K5 @0 dh S S)
1066 M HwE6 (K Y S
2065 1 HMEWR6 (T F Kk 1)
45 F #wE6(TFAH
M8 M KB 5 (K Y & B
48 M K6 (T F A&
TR JER6e (K'Y &
29/N MK JE 5 (SMTC ]
465 M B K6(TF A&
14k & A6 (K'Y &
1506 A 7z 6 (= & A

4m52 +0.6
4md0 +0.4
4m12 +0.8
4m09 +0.5
3m/78 +0.3
3m/6 +1.5
3m66 +0.9
3m65 +0.4
3mo8 +1.1
3m52 +0.3
3m44 0.3
3m27 +0.7
3m12 +0.8

3m06 +2.1435E 2m97 +0. 8

3m05 +1.3
2m89 +0.7
2m75 +1.1

11



INFBZF Do ARKR—)LIE R

1014]
2[ 6]
3[ 1]
4[ 3]
5[ 5]
6[15]
7[17]
8[ 7]
9[16]
10[10]
11[ 8]
12[11]
13[ 2]
141 9]
15[ 4]
16 [13]
17112]

151 7)) vd b 5ik 6 (= &1 A C)46m74
A8 B HfE6 (T F A &)42m36

659 H K sub5 (e S S)38m36
220 ¥ L -6 (SMTC ] r.)36m64
A4 0 #ite (T F A& &) 34m25
193k F 5 Ok 1 fE 1)33m68
163 H B 226 (i 2 T C)33m48
1070 & 6 (K Y & B32ml7
214=5 & &5 (tbRAAC)29m50
M3y B A6 (K Y & H)27m94
1095 & Mli{1=6 (K Y & HE)2Im76
N7 D B &S (K'Y & B)25m37
17 1= =6 (SMTC Jr.)24m10
M2e—x ZHAN 6 (K Y & H)22m23
26/)» 7% @ 5 (SMTC ] r.)20m04
1225¢ 6% % %5 (K Y & Ho 19m81
M9 # ME{-5 (K Y 5 Hu)13m85

12

REH



INEBFOaINL VKA 8 0mHI[0.700m/7. 00m] RAE%

( 0.2 m)
107] 4V m 45 30TJd S S)15.38
[ 6] 271 % K5 (SMTC Jr.)Ri5

13



INFBZ OISV RA R
1011 4vmH A5G S S)1574: 15.38(+0.2) /713, Im15/861
[ 2] 271t A K5 (SMTC Jr.)Ri5

14



INFEBFaOVNA VA ESB REB
101] 4mm FHA50Td S S) 1mlb
[ 2] 271w K5 (SMTC Jr.)Ri5

15
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1527 {3
180 H
15310 %
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205 K 4%

A EER
2078 H
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&5 (=8 A C)1567=
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[148] ( +0.1 m) [248] ( -1.7 m)

10 8] 228K #& A A1 (M J& /1)9.92 q 10 6] 151\iF =1 (K Y B H10.06 g
2[ 3] 109ER HHE 1 (K Y B B9.97 g 2[ 4] 1017 £ #%5 %1 (§EE&E->FRC)10.67 g
3[ 6] 1008 A [BELEEH T F)10.20 g 3[ 5] 1967 i D Al (K7 77)10.82 g
41 4] 204%5 1L kA 1 O o 2 £)10.32 ¢ 40 2] 22552 H #pEE1 (= #1 /)11.13
50 5] 83KE 1 Homwe1 Gva/aELr77)10.52 g 50 7] 841 [ %% Gyt N 11, 27
6[ 7] 182tm A S Hh1 (s 2 T C)11.19 6[ 3] 150AJII F 751 (K Y 5 H)12.00
70 2] 1029 ¥ 0% 1 (HEk-TFRC)11.76

R

( +0.4 m)

10 3] 228K #k H A1 Bf B /11)9.76
2[ 4] 151\ HEHE1 (K Y & B09.85
3[ 5] 149K HHEFE 1 (K Y & 9. 91
4[ 6] 1008 &K B&1 EEH T F)9.92
50 1] 10177 £ #5 % 1 (f&E&k->+RC)10.02
6 7] 2045 (L fb A 1 Ok fE 1)10.36
70 8] 834H 1 H me 1 (Biv:/tiELr77)10. 40
8[ 2] 1967 i v A1 (Kk%Z Z7)10.48

>B

B

%
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-2.3

(

(148]
1[ 8]
2[ 4]
3[ 5]
4[ 3]
5[ 6]
60 7]
10 2]
8[ 1]

[348]
10 7]
2[ 3]
3[ 4]
4[ 6]
5[ 2]
6[ 5]
70 8]

1[ 5]
2[ 6]
3[ 3]
41 4]
5[0 1]
6[ 8]
1[0 7]
8[ 2]

(  -1.1
814 [l /N2 (Bva/11t)77)9. 60 g
18T A &2 @Gld S S)9.86
103 H tLE2CGE 4 /~)10.09
19388 5t 2 (K357 7 7)10. 20
1475 W E2 (K'Y & H)10.45
228 B2 (KRCV2=7)10.55
25 [if] #r 32 (KRCV2=7)11.01
226 K X2 (= # /N)11.53
( 0.0 m)
867 LG 2 CKTHELZ77)8.79 ¢
20 252 (KRCY2=7)9.06 g
82|l R me EE 2 (Blva/11EE177)9.32 ¢
97FK W R EA2 G T F)9.93
1945 R /L2 (K7 77)9.98
1Tt ¥ F2 (TPN_kids)10.06
1057 Wh+2 G 4% /1) 10.65

m)

m)
861
240t ik

O #E 2 CkTELY 77)8,
252 (KRCY2=7)9.
8211 AR me 2 (Blva{falEt77)9.
1525 1 T #R 2 (CHEETAH)9.
19578 BHHEFE 2 (R%7 7 7)0.
2140 B 2 (KRCYa=7)9.
814 ] /N He2 (Blva{+iEt)77)9.
1464t A 2 (K Y & F9.

89
16
19
26
49
56
69
817

20

[248]
10 2]
2[ 4]
3[ 3]
41 1]
5[ 8]
6 6]
70 5]
8[ 7]

(448]
1[0 4]
2[ 6]
3[ 5]
4[ 2]
5[ 8]
6[ 7]
70 3]

( -1.2
219
98 Kk &
148111 1R
2290 ik
1245 K
104111 M
23% ¥

m)
I m 2 (KRCV2=7)9.58 q
B Bl2 T F)I9.74
FLAL2 (K Y B H)9. 91

F2(T F & i%)10.08
34K 2 (PRIDE AC)10.17

A2 45 /1n)10.48
At 2 (KRCvV2=7)10.68
637 H 32 (SMTC Jr.)11.00
( 0.4 m)
152)5 1 F#R 2 (CHEETAH)9.33 ¢
19578 A 2 (K%7 77)9.63 ¢
1464t A 2 (K Y B H9.69 g
QFTH FM2 EE T F)10.38
2230 A L2 (= # /)10.42
107/ 4k EER2 GR 48 /M)11.07
1063/ Oz 2 G 48 /1) 11.66
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(148]
1[ 5]
2[ 8]
3[ 3]
40 7]
5[ 6]
6 2]
[ 4]

(3#H]
1[0 3]
2[ 2]
3[ 8]
4[ 6]
5[ 4]
[ 5]
[ 7]
[5%#H]
1[0 4]
2[ 3]
3[ 6]
4[ 5]

iR

( -3.6

1[ 5]
2[ 4]
3[ 6]
41 3]
5[ 8]
6[ 7]
70 1]
8[ 2]

( -0.3

m)

1817aFf 324323 (i 84 T C)17.80 q
/IMN17.95 ¢

1100 H
3T &
7035
1997 N

16845

1423t A

( -1.4
68 B 3 (T F & #)17.00
21 H EAE3 (KRCY2=7)18.13
964 T A3 T F)18.74
2855 7 B3 (KRCVa2=7)19.51

165 2 33 (= 8 A C)19.52

1925 W ME &3 (K7 77)Ri5

2034 = AE3 (R WU BE B)RIG

( 0.0 m)

164554 WLHE 3 (= 1 A C)18.04
14 AFE3CRE R C)18.37
30 H Hi# 3 (KRCY2=27)19.76

1087 [l #E &< 3 GE 4% /,)20.92

2R3 ORI
HE3 (WVFYAC)18.30
MEE3 (T F A #)19.33
w23 4 S S)19.39
ZHE3 (= § A C)19.61
EF3I(KY B B)RIS

m)

m)

68 & 3 (T F A #)17.02
629 iy A& AE3 (SMTC Jr.)17.40
69K [l L Fn3 (T F A& #)17.49
190 (D33 (k%7 77)17.176
297@IE 1045)5 3 (KRCV2=7)18.14
617 &% #5323 (SMTC Jr.)18.28
1100 H 243 G 4% /)18.35
181V, %2323 (7 25 T C)18.49

21

(248]
10 5]
2[ 3]
3[ 8]
4[ 6]
5[ 7]
6 2]
A

(48]
10 4]
2[ 5]
3[ 2]
4[ 6]
5[ 7]
[ 3]

( -0.3
69 £ [if]
190 7 1L
6219 A%
1431 7R

4% H

m)

261 H
( +0. 1

m)

297FIE 0 Z3)h 3 (KRCVYa=7)1T.
#5323 (SMTC Jr)1T.
/1N 18.
3 (K Y & B19.
166 KM Hia+3 (=& A C)19.
3 (K7 7 7)Ri5

617 i
109 {1 35
14498 #F

EHEI O

1911 A&

L3 (T F & #H)17.
D3 (KR¥7 7 )17,
A3 (SMTC Jr)17.
ZIHE3I (K Y B B)18.
B3 MU+ YAC)18.
167 H I+ 3 (= 8 A C)19.
% 723 (KRCV=2=7)19.

32
44
53
04
96
56
87

61
15
29
14
21

q
q
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iR B

(

(148]
1[ 5]
2[ 2]
3[ 7]
4[ 3]
5[ 4]
6 6]
70 8]
8[ 1]

[3%#8]
1[ 2]
2[ 5]
3[ 4]
4[ 6]
5[ 8]
6[ 7]
7[ 3]
8[ 1]

[548)
1[ 2]
2[ 8]
3[ 6]
47 3]
5[ 4]
6[ 7]
7[ 5]

( +0.2 m)

5945 H fm B2 4 (SMTC Jr.)16.
206K 1B EF 4 (T F Kk )17,
140\ EHRAL4 (K Y & BO1T.
145 fh &H4@Td S SHIT.
133 E = w4 GE 4 /917,
18045 (LI Lomed (7 25 T C)H1T.
314 4 (KRCY2=7)1T.
14550 FEFI= 4 (K Y & BO17.

( -0.6 m)

5Bt & #E K4 (TAU—FKTF)16.
162 H fE04 Q7 de S S)16.
13810 FEX4XK Y B BT
18948 A P 4 (K7 7 )11,
2K H FM4 G 4 /)18,
604211 =< B4 (SMTC Jr.)18.
19—z £57+4 (K Y & B0 18.
16215 (U &4 (Z 85 A C)19.

( 0.3 m)

13485 10 # 44 (K'Y B F)15.
MW ¥ H4 G 4 /)16,
217)5 #5 x fn4 (T F >k 7)16.
2021k 2 A —8E 4 Ok 1 B E)17.
1354k 3 L4 (K Y & HBHOIT.
200 & B&4GTIE S S)IT.
9548 A 4 EEJ T F)18.

-0.3 m)

10 5]
2[ 3]
3[ 7]
4[ 4]
5[0 1]
6[ 6]
7[ 8]
8[ 2]

13622 = # # 4 (K Y & H)15.
5Bt & ZE K4 (TAU—FAF)16.
156 J5. 22844 ] £ S S)16.
M HE 3%H4 G 4 /)16.
1371 AR ¥4 (K Y & H)16.
134485 (1 #44 (K Y B E)16.
217)5 #5 % fn4 (T F >k 7)16.
678 4% 4 (T F A& H5)16.

99
26
45
51
99
99
13
14

09
67
48
19
06
35
45
00

99
06
13
45
69
15
10

A
05
22
33
41
43
47
64

o

22

(248]
10 6]
2[ 4]
3[ 7]
4 3]
5[ 5]
6 2]
7 8]
[ 1]

(448]
10 2]
2[ 7]
3[ 3]
4[ 8]
5[ 5]
6[ 6]
10 1]
8[ 4]

( -0.1 m)
15/ )0 Z2#44 (M db S S)16.11 ¢
67E M HxHE4 (T F A #)16.26 g
94 ] K4 T F)17.43
32 AF P4 (KRCYV2=7)17.53
187Hi T ™0 4 (K527 77)17.98
145 B FE &4 G 4 /1)19.25
MM 4 (K'Y & E19.80
21888 1 #P HB 4 (IThRAAC)RIG
( 0.2 m)

13622 1 # #4 (K Y & Hu)15.53 g
13T AR K4 (K'Y B B16.34 ¢
1A E&/4@Td S S)16.84
854  fw fE4 CkTkEL/77)16.85
AL~ A K4 (TAY—FKT)16.95
1883 B  # fE 4 (K27 7 7)11. 41
16350405 A4 (= 5 A C)17.86
71k A f£4 (PRIDE AC)18.28
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(148]
1[ 6]
2[ 7]
3[ 4]
4[ 3]
5[ 8]
6 5]
10 2]

[3#8]
1[ 3]
2[ 2]
3[ 4]
4[ 6]
5[ 7]
6 5]
[ 8]

(5#H]
10 7]
2[ 3]
3[ 8]
41 6]
5[ 5]
6[ 2]
1[ 4]

iR RS
(

-1.1

1[ 5]
2[ 6]
3[ 3]
41 4]
5[ 8]
6[ 2]
70 1]
8[ 7]

( -0.8
176 4¢ 4%
33 44
88k M
555 K
1155 16
2007# %2
121 A
( -17
179111 1
100
1324t #f
57 & 37
925 H
361 H
80 L A
( -1.5
1299 I
21411 11

m)
K E 5 (i BT C)15.10
25 (KRCY2=7)15. 46
BiAK5 (B T F)16.09
ZSFE 5 (SMTC Jr.)16.29
f% 25 G 48 /1V)16.35
A LS Ok b ke 1)16.68
AR5 @G dE S S)17.64
m)
A5 i BT C)14.44
Flagks5 (b S S)14. 81
JB5 (K Y B B015.23
HWL 5 (SMTC Jr.)16.65
A5 W T F)18.07
%725 (KRCY2=7)18.60
JR B 5 (BRVa{TaEL)77) R 35
m)
B 5 (K'Y & Hu1b.23
5 (T F >k 1)15.26
1309 & Hif5 (K Y & H)15. 41
38K B Fi 45 (KRCY2=7)15.48
201 1LAR BB 5 Ok (b B2 F)16.65
1604 A T #5 (=8 A C)16.82
MER) BEH 5 (KRCY2=7)16.85

m)

1791 s A8 H 5 (i 2 T C)14.58
10H H #2565 G b S S)14.87
159407 &8 ¥R £ 5 (= & A C)15.13
1764 % #< E 5 (i 2 T C)15.18
904 O 5 EE T F)15.32
21431 (1 #EfE5 (T F >k 7)15.43
1299 £ B Fn5 (K Y 5 Hu)15.46
13246 & JB5 (K Y & Eu)15.53

a

q
q
q

23

(248]
107]
2[ 4]
3[ 5]
4 3]
5[ 2]
6 8]
70 6]

(48]
10 7]
2[ 8]
3[ 3]
4[ 5]
5[ 6]
6 2]
[ 4]

[648]
1[ 3]
2[ 5]
3[ 6]
41 7]
5[ 2]
6[ 8]
70 4]

( -1.7 m)
b6 # B FES5 (SMTC Jr.)15.68
199 A A wes Okl ke )15, 77

1338 M0 Bk 5 (K Y B Hu)1b.
OFFF H2v0 5 il & S S)16.
89 LA HES5EE M T F)I6.
3Tkt B B 455 (KRCVa=7)17.

1TTRE 75 (7 8 T C)1T.

( -0.6
1145 |
93 A&

82
31
18
06
99

m)
&S5 T S S)16.
¥ Jh5 (FE I T F)I6.
18447 % D £ 5 (K 7 )11,
178% W B A5 (i 2 T C)I1T.
1B T FE5(KY B B)17.59
2279 A Bk #ES (= #] /) 18.38
584 A ZEE5 (SMTC Jr.)XRiE
( -1.1 m)
15977 ¥ Ui #E 5 (= § A C)14.95
90MEE O 5 (B T F)15.21
215580 < 545 (T F >k 1)15.62
2137 M E#/Z5 (T F Kk 1)15.79
TOME 1L 2% B 5 (Blva/takEL)77)15. 95

A EHHES5 WAL S S)16.96
3Bt A 5 (KRCYV2=7)17.12

61
68
48
53
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(1#8)
1[ 3]
2[ 5]
3[ 7]
4 2]
5[ 8]
6[ 6]
70 4]

(3#H]
10 3]
2[ 5]
3[ 7]
41 4]
5[ 6]
6[ 2]
70 8]

(5#H]
10 2]
2[ 4]
3[ 5]
41 6]
5[ 3]
6[ 7]

iR B

( 0.4 m)

169748 [ £ me6 (i 22 T C)14.27 ¢
TTHL AR 4 56 (RVa(12EL)77)14.76 ¢
6@ H 2 H6 I S S)15.45
46D EH 3 6 (KRCY2=7)15.52
M8mi M & 16 (K Y & Hu)15.55
15475 38 ke (= & A C)15.86
S4MNE T =6 (SMTC Jr.)16.02

( -0.4 m)

65 9% 6 (T F A #)15.13 g
521 H By 6 (SMTC Jr.)15.27 q
421 6 (KRCY2=27)15.53
12278 W M6 (K Y & H15.97
1566 0 36 (= 8 A C)16.06
1219 )11 &= fE6 (K Y & Hu16.37
1288 &% A6 (K Y 5 Hu16.64

( -0.7 m)

125 & #ime6e (K'Y & H)14.96 q
1982 H  ME6 (K 1 pE 1)15.43
504K FE > Z& 6 (SMTC Jr.)15.84
12788 H B %6 (K Y & H15.94
206%E10E HV X6 (T F >k 1)15.99
51/ % J56 (SMTC Jr.)16.08

( -1.4 m)

10 3]
2[ 6]
3[ 4]
4[ 5]
5[ 8]
6[ 2]
70 7]
8[ 1]

16978 (LI Eme6 (i 22 T C)14.33
ATk 4 W6 (KRCVa=7)14.38
64l A A6 (T F & #)14.88
TTL AR 4 %86 (Bv:{fiEt)77)15. 06
1259 & w6 (K'Y B Hu1b5.28
52111 P56 (SMTC Jr.)15.28
655 9% 6 (T F A #)15.36
19705 (L Bg #£ 6 (K 1 fE 1)15.62

24

[248]
1[ 5]
2[ 6]
3[ 7]
41 4]
5[ 3]
6[ 8]
70 2]

[4%4H]
1[ 2]
2[ 5]
3[ 4]
41 7]
5[ 8]
6[ 3]
70 6]

( +0.3
4Tk 4+
640 A
19745 11
120 1

155/)~ Bf
117/ Bk
( -0.9
537 &
124 B
183 75 i
76 [ 15F
158111 1R
153N H
12312 &

m)

e fn6 (KRCV227)14.
%6 (T F & H)14.
B 256 Ok 1L fE )15,
%6 (K'Y B H)i5.
M9 A A6 (K'Y & H1s.
Z6 (= # A C)16.
A6 G 4 V1T

m)

P16 (SMTC Jr.)15.

e (K Y B H)15.
Z k6 (Kiar 7 7)15.
B 456 (TAU=FEF)16.

P 6 (= & A C)16.
326 JLU B /N)16.
YR6e (K Y & F)17.

33 g
74 ¢
35 ¢
53
57
15
94

42
99
18
34
56
19
10
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(148]
1[ 2]
2[ 1]
3[13]
4[ 8]
5[ 3]
6 6]
7[ 5]
8[12]
9[11]
10[ 4]
11[14]
12[ 7]

[ 9]

[10]

(3#H)
1014]
2[10]
3[ 3]
41 1]
5[ 5]
6[ 6]
70 2]
8[ 9]
9[ 8]
10[13]
1[0 7]
121 4]
13[12]

[11]

18477 1%

16 ] 55 R 5 G 45
219/ J5U w6 U 5
18544

137 #1
93 A
89 I kf
121 A
2270 f
160 A
58 &
208 {J* i

# b e s S)3
HE#ES (=

65 9 H
2074
1259 [
12278 H
493 I
12977] |-

2)11 g
1309 [

20ER)I &

19745 (L H}i%6(ﬁ<m57“ei)

39EH /& 6 (KRCY2=7)2:
FERE6 (fF 2 T C)2:
B5 (K'Y B F)XES

[RARGIS
13246 #

D FE5 (RK7 77)2:
1758510 2 H6 U2 T C)2:
/N2
/N3
— W5 (K7 77)3:
AMLA BB+ 6 (KRCY2=7)3:
AEFESGTIE S S)3:
¥ b5 (W T F)3:

H5E M T F)3:

IDER
F#5 (= # A C)3:
ZEX5 (SMTC Jr.) RIS
M6 (T F ok )RiG

6 (T F A #)2:
%6 (T F Xk 1)2:
Wree (K'Y B B2:

il 6 (K'Y & Bu2:
M 6 (SMTC Jr.)2:
B s (K'Y B B)2:
25 (BE)IP JT)2:
s (KY B F)2:
198 H  ME6 OK U pE 1)2:
Ex4< 5 (T F Kk 1)2:

46.
94.
59.
02.
05.
05.
06.
06.
12.
2.
19.
26.

33.
40.
41,
41,
41.
42.
42.
46.
47,
48.
:49.
51.
55.

65
82
10
91
30
32
05
23
09
88
44
60

97
14
32
45
67
11
56
15
46
22
60
10
26

[248]
1[13]
2[ 8]
3[ 7]
4112]
5[0 1]
6[14]
7[10]
8[ 4]
9[ 2]
10[ 5]
11[ 6]
12[ 9]
13[11]

[ 3]

4> AN
i 5

1 65EM 9%
2 207 fHl %=
125 5 i
4 12278 H
494 | R
12990 &[5
2)1 I H
O E o>

205k

186 &5 EE
1581l i
121 1 )11
11450 H
20911 ¥
1264 H
2108 &
127488
128 X #&

153[7\7 H

w

0 ~J o O

25

O] H0 5 G db S S)2:
HEP6 (T F K 1)2:
¥ 55 (Rgr7 77)2:
PE6 (=5 A C)2:
E6 (K'Y & By2:
(7 de S S)2:
(T F Xk 7)2:
(K'Y & B3
(T F Xk 7)3:

g

%TB O oE b
%# R A

(K'Y & B3

B e UL /N3

6 (T
%6 (T
fig e 6 (K 1) 2
M6 (K Y % i) 2
A6 (SMTC Jr.)2
M5 (K Y B H)2
5 WEIN P J T)2
w5 @ Jdb S S)2

w)2:

¥)2

o % mp

46.
47.
48.
53.
56.
56.
59.
00.
01.
102.
103.
:08.
11,
1785 W EA5 U 2% T C)RG

25
11
22
20
28
38
54
10
92
21
24
51
59

33.97
:40. 74
141.32
41.45
41.67
14211
:42.56
:46. 25
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(

(148]
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